1.
Дано:

m(KMnO4) = 221,2 г

V(O2)= 15л
Найти
η(O2)

решение:

2KMnO4 = K2MnO4  + MnO2 + O2
n(KMnO4) = 221,2/158= 1,4 моль
n(O2) =0,5 n(KMnO4) =0,7 моль
V(O2)теор=0,7*22,4 =15,68 л
η(O2) =15/15,68 = 0,957 или 95,7%

2.

Дано:

m(NH4Cl) = 160,5 г

V(NH3)= 66л
Найти
η(NH3)

решение:

Ca(OH)2 +2 NH4Cl = CaCl2  + H2O + 2NH3
n(NH4Cl) = 160,5 /53,5= 3 моль
n(NH3) = n(NH4Cl) =3моль
V(NH3)теор=3*22,4 =67,2 л
η(NH3) =66/67,2 = 0,982 или 98,2%

3
Дано:

m(Zn) = 5,2 г

V(H2)= 1,6л
Найти
η(H2)

решение:

Zn +2 HCl = ZnCl2  + H2
n(Zn) = 5,2 /65= 0,08 моль
n(H2) = n(Zn) =0,08 моль
V(H2)теор=0,08*22,4 =1,792 л
η(H2) =1,6/1,792= 0, 893 или 89,3%

